M6 x 25 M6 x 20
813RM DIN7991

M6 x 12 DIN7991 813LB

DIN7991

M6 x 12
DIN7991

M8 x 25 DIN7991

806

M8 x 25

M8 x 25 DIN7991

DIN7991

EXTR.cod.820 +
M6 x 20 DIN7991

M8 x 20 DIN912
+ 8072

M8 x 20 DIN912

817 +
M6 x 20 DIN7380+
M6 DIN934 + LOCTITE

+ 8072

M8 x 40 DIN7991

+ M8 DIN934

e + LOCTITE !

M8 DIN934 A2

M6 x 35 DIN7991
+ 123121806

810R S1013 818185

+ LOCTITE !

M8 x 40 DIN7991
+ M8 DIN934
+ LOCTITE !!

DUCATI Panigale
V4 /S / V4R
2025 —
Part Nr. 503

M6 x 20 DIN7380

M6 x 25 DIN7380
+ 123120306

M6 x 35 DIN7991
+ 123121506
+ LOCTITE !

Racing Parts




